ggd

ud gd ud ud ooooobod
1 = goo E 500,000
2 = goo E 250,000
T3 = gogo E 136,666
T3 = goo E 136,666
T3 = goo E 136,666
6 = goo E 90,000
7 = goo E 80,000
T8 ("] g E 67,500
T8 = goo E 67,500
T10 = goo E 55,833
T10 = goo E 55,833
T10 = goo E 55,833
T13 = g E 47,500
T13 = goo E 47,500
T15 = goo E 39,300
T15 = g E 39,300
T15 = goo E 39,300
T15 = goo E 39,300
T15 = goo E 39,300
T20 = ggd E 34,716
T20 = ggd E 34,716
T20 = ggd E 34,716
T20 = ggd E 34,716
T20 = ggd E 34,716
T20 = ggd E 34,716
T26 = ggd E 31,240
T26 = ggd E 31,240
T26 = ggd E 31,240
T26 = ggd E 31,240
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T26

T31

T31

T31

T31

T31

T31

T31

T31

T31

T31

T31

T42

T42

T42

T42

T42

T42

T42

T42

T50

T50

T50

T50

T50

T55

T55

T55

T55

T55

T55

@ EEEEEEEEETEEETHE

E FEEFEEE

goo

TEEMU PUTKONEN

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

31,240
25,818
25,818
25,818
25,818
25,818
25,818
25,818
25,818
25,818
25,818
25,818
20,063
20,063
20,063
20,063
20,063
20,063
20,063
20,063
16,400
16,400
16,400
16,400
16,400
15,000
15,000
15,000
15,000
15,000

15,000
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T61

T61

T61

T61

T61

T61

T61

T61

T61

T61

L

goo

goo

goo

KO DONGIIN

gonos4

goo

goo

goo

goo

goo

9,500
9,500
9,500
9,500
9,500
9,500
9,500
9,500
9,500

9,500
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